নং-বিএসইসি/এনফোর্সমেন্ট/৩৩৭৪/২০২২/৫২১

তারিখঃ ০৯ জুন ২০২৪ ইং

Ms. Nuzhat Nahar Trisha House No-17, Road No-102 Gulshan-2, Dhaka- 1212.

ME

বিষয়: আদেশ!

কমিশনের আদেশ নং- বিএসইসি/এনফোর্সমেন্ট/৩৩৭৪/২০২২/৫২০ তারিখ: ০৯ জুন ২০২৪ এর সত্যায়িত অনুলিপি আপনার অবগতি ও প্রয়োজনীয় ব্যবস্থা গ্রহনের জন্য এতদসঙ্গো সংযুক্ত করা হলো।

বাংলাদেশ সিকিউরিটিজ অ্যান্ড এক্সচেঞ্জ কমিশনের পক্ষে,

०२।भर०रह

রবিউল ইসলাম

সহকারী পরিচালক (এনফোর্সমেন্ট)

টেলিফোন নাম্বার: +৮৮ ০২-৫৫০০৭১৩১-২

ই-মেইল: rabiul@sec.gov.bd

অবগতির জন্য অনুলিপি:

১। নির্বাহী পরিচালক, এমআইএডি, বিএসইসি,

২। নির্বাহী পরিচালক, এমআইএস, বিএসইসি,

৩। চেয়ারম্যান মহোদয়ের দপ্তর, বিএসইসি।

নং-বিএসইসি/এনফোর্সমেন্ট/৩৩৭৪/২০২২/৫২০

তারিখঃ ০৯ জুন ২০২৪ ইং

আদেশ

যেহেতু, Securities and Exchange Ordinance, 1969 এর Section 2 (cc) মোতাবেক কমিশন অর্থ বাংলাদেশ সিকিউরিটিজ অ্যান্ড এক্সচেঞ্জ কমিশন যা বাংলাদেশ সিকিউরিজি অ্যান্ড এক্সচেঞ্জ কমিশন আইন, ১৯৯৩-এর অধীনে গঠিত;

যেহেতু, নভেম্বর ২৪, ২০২০ তারিখের Surveillance Note-063/2020 অনুযায়ী এবং Regulation 16(3)(c)(ii) and (d)(v) of Dhaka Stock Exchange (Board and Administration) Regulations, 2013 দ্বারা প্রদত্ত ক্ষমতাবলে ঢাকা স্টক এক্সচেঞ্জ লিমিটেড ২৭.০৭.২০২০ থেকে ২৪.১১.২০২০ পর্যন্ত সময়ের জন্য Mercantile Insurance Company Limited (MERCINS) - এর শেয়ার লেনদেন সংক্রান্ত অনুসন্ধান (investigation) কার্যক্রম পরিচালনা করেছে এবং কমিশনে এ সংক্রান্ত একটি প্রতিবেদন দখিল করেছে। অনুসন্ধান প্রতিবেদন থেকে অন্যান্যের মধ্যে নিম্নলিখিত বিষয়গুলি উপস্থাপিত হয়:

A. Top Traders:

Major buyers of the period:

The price of MERCINS shares was increased from TK. 24.80 to 46.10 which increased by 85.89% from 27.07.2020 to 24.11.2020. Major buyers of the period were as follows:

SI No.	Client Code	Client Name	BO ID	Name of TREC Holder	Buy Quantity	Sell Quantity	Total Trade	Total Trade Volume in the market	% of total Trade
1	4730	ABDUL QUAIUM	1602170067227377	Mercantile Bank Securities Limited	1716926	* 65000	1781926	87035042	2.05%
2	04860	TEK SOLVE	1204090061085753	Shahjalalislami Bank Securities Limited	1181494	1032969	2214463	87035042	2.54%
3	11247	ARAM!T THAI ALUMINIUM LIMITED	1203310062947097	Merchant Securities Limited	1017290	0	1017290	87035042	1.17%
4	20471	A S M BULBUL	1202650042036700	Quayum Securitles Limited	838000	538000	1376000	87035042	1.58%
5	M640	ABDUS SAMAD	1202140062270521	Dragon Securities Limited	749589	384568	1134157	87035042	1.30%
6	20522	FAHAD HASAN	1202650067114861	Quayum Securities Limited	719299	496799	1216098	87035042	1.40%
7	A055	NUR ISLAM	1205950069607528	NRBC Bank Securities Limited	651527	168754	820281	87035042	0.94%
8	05155	R. A. SPINNING MILLS LTD.	1204090063841336	ShahjalalIslami Bank Securities Limited	453134	241280	694414	87035042	0.80%
9	CSN133	SHASHA GARMENTS LIMITED	1605860063024593	Citizen Securities and Investment Limited (Traded through United Financial Trading Company Limited)	414604	414604	829208	87035042	0.95%
10	180	SHAJJAD MUSTAFA	1203310003898363	Merchant Securities Limited	404773	0	404773	87035042	0.47%
11	AG5427	NUZHAT NAHAR TRISHA	1201590068195476	Royal Capital Limited	401000	408000	809000	87035042	0.93%
12	11116	SANJIA AL BAKI	1203310055193679	Merchant Securities Limited	388438	581722	970160	87035042	
13	20500	RASHID AHMED JUWEL	1202650065595459	Quayum Securities Limited	381500	100000	481500		1.11%
14	20467	FARZANA SHAHEED	1202650064067986	Quayum Securities Limited	373500	135000	508500	87035042 87035042	0.55%
15	V00070	MD. HARUN UR RASHID	1206080051248224	Vertex Stock and Securities Limited	355249	75000	430249	87035042	0.58%



Findings:

II. Major sellers of the period:

The list of major sellers of MERCINS from 27.07.2020 to 24.11.2020 are as follows:

SI No.	Client Code	Client Name	BO ID	Name of TREC Holder	Buy Quantity	Sell Quantity	Total Trade	Total Trade Volume in the market	% of total Trade
1	00223	PEOPLES SECURITIES LIMITED	1203980015605147	NBL Securities Limited	160000	3297115	3457115	87035042	3.97%
2	X1	UTTARA FINANCE AND INVESTMENTS	1203770012801322	UGC Securities Limited	0	1725000	1725000	87035042	1.98%
	00224	MR. MQ.RUHUL AMIN	1203980000002382	NBL Securities Limited	0	1447406	1447406	87035042	1.66%
3	00224	NBL SECURITIES LIMITED	1203980048433017	NBL Securities Limited	156572	1386198	1542770	87035042	1.77%
5	00002	TEK SOLVE	1204090061085753	ShahjalalIslami Bank Securities Limited	1181494	1032969	2214463	87035042	2.54%
-	E1514	Md. Riyazul Islam	1605640062454365	EBL Investments Limited	0	998770	998770	87035042	1.15%
7	05104	MD. MAMUN SALAM	1202090019536246	NCCB Securities and Financial Services Limited	202529	758697	961226	87035042	1.10%
•	02704	ORACLE SERVICES LIMITED	1203980062677775	NBL Securities Limited	0	597038	597038	87035042	0.69%
8	03704	SANJIA AL BAKI	1203310055193679	Merchant Securities Limited	388438	581722	970160	87035042	1.11%
9	11116	A S M BULBUL	1202650042036700	Quayum Securities Limited	838000	538000	1376000	87035042	1.58%
10	20471	FAHAD HASAN	1202650067114861	Quayum Securities Limited	719299	496799	1216098	87035042	1.40%
11	20522	The state of the s	1203980028437891	NBL Securities Limited	0	492895	492895	87035042	0.57%
12	02365 CSN133	NITISH KRISHNA DAS SHASHA GARMENTS LIMITED	1605860063024593	Citizen Securities and Investment Limited	414604	414604	829208	87035042	0.95%
	AG5427	NUZHAT NAHAR TRISHA	1201590068195476	Royal Capital Limited	401000	408000	809000	87035042	0.93%
14	M640	ABDUS SAMAD	1202140062270521	Dragon Securities Limited	749589	384568	1134157	87035042	1.30%

Findings:

B. Nuzhat Nahar Trisha:

Observation:

After examining account opening forms and relevant documents, it is revealed that *Nuzhat Nahar Trisha* maintains account with Royal Capital Limited. Details of the account are given below:

S.L.	Name	Client Code	BO ID	TREC Holder's Name	Father's Name	Remarks
1	Nuzhat Nahar Trisha	AG5427	1201590068195476	Royal Capital Limited	Md. Nurul Amin	Md. Nurul Amin is the Sponsor/Director of Mercantile Insurance Company Limited. He is also the nominee of the account.

However, in the Monthly Shareholding Position report of Mercantile Insurance Company Limited for the month of June, 2020, it is found that Md. Nurul Amin, father of *Nuzhat Nahar Trisha*, is the Sponsor/Director of Mercantile Insurance Company Limited. He is also the nominee of the BO account of *Nuzhat Nahar Trisha*.

As per DSE trade data, *Nuzhat Nahar Trisha* bought 408,000 shares and sold same quantity of shares of MERCINS during the period from 27.07.2020 to 24.11.2020 through his BO account with Royal Capital Limited. Individual Trade Pattern and Effects of MERCINS by *Nuzhat Nahar Trisha* are given below:



www.sec.gov.bd

a) Individual Trade patterns (Nuzhat Nahar Trisha):

			AG5427									
	ВО	ID # 1201	59006819547	6			To	tal				
Date		Nuzhat N	ahar Trisha									
		Royal Cap	ital Limited									
	Buy Qty	Rate	Sale Qty.	Rate	Buy Qty	Buy Rate	Total	Sale Qty.	Sale Rate	Total		
24-09-2020	200000	33.08	0	0.00	200000	33.08	6616000.00	0	0.00	0.00		
05-10-2020	0	0.00	6727	33.40	0	0.00	0.00	6727	33.40	224681.80		
06-10-2020	0	0.00	193273	. 33.62	. 0	0.00	0.00	193273	33.62	6498102.30		
14-10-2020	5000	28.20	0	0.00	5000	28.20	141000.00	0	0.00	0.00		
15-10-2020	10000	29.50	0	0.00	10000	29.50	295005.40	0	0.00	0.00		
18-10-2020	193000	32.19	0	0.00	193000	32.19	6212185.40	0	0.00	0.00		
12-11-2020	0	0.00	208000	43.24	0	0.00	0.00	208000	43.24	8994682.30		
Total	408000		408000		408000			408000				

b) Effects of MERCINS by Nuzhat Nahar Trisha:

Opening balance: 0 shares

		Buy			Sale			Cost of shares sold		Stock Position		
Date	Qty.	Price	Amount	Qty.	Price	Amount	Bonus Share Credited	Price (W.Avg.)	Amount	Qty.	Price (W.Avg.)	Amount
	1	2	3	4	5	6	7	8	9	10	11	12
Opening Balance										0	0.00	0.00
24-09-2020	200000	33.08	6616888.81	0	0.00	0.00	0	0.00	0.00	200000	33.08	6616888.81
05-10-2020	0	0.00	0.00	6727	33.40	224681.80	0	33.08	222559.06	193273	33.08	6394329.75
06-10-2020	0	0.00	0.00	193273	33.62	6498102.30	0	33.08	6394329.75	0	0.00	0.00
14-10-2020	5000	28.20	141000.00	0	0.00	0.00	0	0.00	0.00	5000	28.20	141000.00
15-10-2020	10000	29.50	295005.40	0	0.00	0.00	0	0.00	0.00	15000	29.07	436005.40
18-10-2020	193000	32.19	6212185.40	0	0.00	0.00	0	0.00	0.00	208000	31.96	6648190.80
12-11-2020	0	0.00	0.00	208000	43.24	8994682.30	0	31.96	6648190.80	0	0.00	0.00
Total	408000	32.51	13265079.61	408000	38.52	15717466.40	0	32.51	13265079.61	0	0.00	0.00

		Comparison	with the Market			
Mkt Trade Qty at DSE	Mkt Close Price at DSE	Market price Changed by	Client Buy (%)	Client Sale (%)	Client Trade (%)	
13	14	15	16	17	18	
1305751	33.10	0.61%	15.32%	0.00%	15.32%	
1668655	33.00	4.10%	0.00%	0.40%	0.40%	
1948793	32.60	-1.21%	0.00%	9.92%	9.92%	
646625	28.20	-7.54%	0.77%	0.00%	0.77%	
411784	31.00	9.93%	2.43%	0.00%	2.43%	
564450	31.60	1.94%	34.19%	0.00%	34.19%	
1363241	46.00	8.49%	0.00%	15.26%	15.26%	



c) Gain/Loss of Nuzhat Nahar Trisha by trading of MERCINS share:

					Summary	A Assistance				W. Jakobski
Total Buy		Total Sale			Cost	of Shares Sold	Stock Position			
Qty	Price	Amount	Qty	Price	Amount	Price	Amount	Qty	Price	
408000	32.51	13265079.61	408000	38.52	15717466.40	22.54	Control of the second	diy	FIICE	Amount
	President	A PASSO SHEET OF		50.52	13/1/400.40	32.51	13265079.61	0	0.00	0.00

Opening Price (27-07-2020)	24.80	Opening Price of First Investigation Date			
Closing Price (24-11-2020)	46.10	Closing Price of Last Investigation Date			
Realized Capital gain/loss)per unit	6.01				
Realized Capital gain(loss)%	18.50%	Average Sale Price - Average Cost Price			
Realized Capital gain(loss)TK	24,53,386.40	Gain (loss) Per Unit/Cost Per Unit Total Sale Quantity x Gain (loss) Per Unit			
Unrealized gain(loss) per unit	0.00	Closing Price of Last Investigation Date - Average Price of Stock position			
Unrealized gain(loss) %	0.00%	Unrealized gain (loss) per unit /Average Price of Stock Position			
Unrealized gain(loss) TK	0.00	Quantity of Stock Position x Unrealized gain (loss) per unit			

On 18.10.2020, 21.10.2020, and 01.11.2020, the following news of Mercantile Insurance Company Limited was disseminated respectively through the DSE online news archive:

18.10.2020:

Board Meeting schedule under LR 16(1): As per Regulation 16(1) of the Dhaka Stock Exchange (Listing) Regulations, 2015, the Company has informed that a meeting of the Board of Directors will be held on October 21, 2020 at 3:30 PM to consider, among others, un-audited financial statements of the Company for the Third Quarter (Q3) period ended on September 30, 2020.

21.10.2020:

Postponement of Board Meeting schedule under LR 16(1): The Company has further informed that due to unavoidable circumstances, the meeting scheduled to be held on October 21, 2020 at 3:30 PM as per Regulation 16(1) of the Dhaka Stock Exchange (Listing) Regulations, 2015, to consider, among others, unaudited financial statements of the Company for the Third Quarter (Q3) period ended on September 30, 2020, has been postponed. New date and time of the meeting will be notified later.

21.10.2020:

Reschedule of Board Meeting schedule under LR 16(1): The Company has further informed that meeting of the Board of Directors of the Company as per Regulation 16(1) of the Dhaka Stock Exchange (Listing) Regulations, 2015, will now be held on October 29, 2020 at 3:30 PM to consider, among others, un-audited financial statements of the Company for the Third Quarter (Q3) period ended on September 30, 2020.

01.11.2020:

Q3 Un-audited: Consolidated EPS was Tk. 0.75 for July-September, 2020 as against Tk. 0.13 for July-September, 2019; Consolidated EPS was Tk. 1.15 for January-September, 2020 as against Tk. 0.93 for January-September, 2019. Consolidated NOCFPS was Tk. 0.55 for January-September, 2020 as against Tk. 0.40 for January-September, 2019. Consolidated NAV per share was Tk. 19.45 as of September 30, 2020 and Tk. 18.27 as on December 31, 2019.



The news of Board meeting to consider Q3 un-audited financial statements was disseminated on 18.10.2020. Before that, closing price of MERCINS was Tk. 33.70 on 11.10.2020 and Tk. 31.60 on 18.10.2020. However, a news of postponement of the said Board Meeting was disseminated on 21.10.2020. And later on the news regarding Q3 Financial Statements of MERCINS was disseminated on 01.11.2020 where it was observed that EPS of the said company stood Tk. 0.75 which was only Tk. 0.07 in the previous quarter, Q2 (April-June). It is also observed that closing price of MERCINS as on 18.10.20 was Tk. 31.60 which reached to Tk. 44.60 on 01.11.2020 marking an increase by Tk. 13 or 41.93%.

Nuzhat Nahar Trisha bought total 208,000 shares of MERCINS from 14.10.2020 to 18.10.2020 and sold her entire holdings after the news of Q3 Un-audited financial statements was published and eventual price increase. The said client realized capital gain of Tk. 2,453,386.40 from the trading of MERCINS share during the period from 27.07.2020 to 24.11.2020.

Findings:

As per 8(১) of সিকিউরিটিজ ও এক্সচেঞ্চ কমিশন (সুবিধাভোগী ব্যবসা নিষিদ্ধকরণ) বিধিমালা, 1995- সুবিধাভোগী ব্যবসা ইত্যাদি নিষিদ্ধকরণ।- "কোন ব্যক্তি নিজে বা অন্য কাহারো মাধ্যমে সুবিধাভোগী ব্যবসা করিবেন না বা উক্তরূপ ব্যবসার ব্যাপারে কোন ব্যক্তিগত পরামর্শ প্রদান বা সহায়তা করিবেন না।"

Definition of insider is defined in ২। (৬) of সিকিউরিটিজ ও এক্সচেঞ্চ কমিশন (সুবিধাভোগী ব্যবসা নিষিদ্ধকরণ) বিধিমালা, 1995 as "সুবিধাভোগী" অর্থ এমন কোন ব্যক্তি যিনি- (অ) কোন কোম্পানীর পরিচালক, প্রধান শেয়ার হোল্ডার, ম্যানেজিং এজেন্ট, ব্যাংকার, নিরীক্ষক, উপদেষ্টা, কর্মকর্তা বা কর্মচারী। (আ) এমন একজন ব্যক্তি যে, উপ-দফা (অ) তে উল্লিখিত কোন ব্যক্তির সহিত তাহার সম্পর্কের কারণে অথবা কোম্পানীর সহিত যে কোন সম্পর্কের কারণে বা তাহার অবস্থানের কারণে মূল্য সংবেদনশীল তথ্য জানিতে পারেন বা উক্ত তথ্য জানিবার সুযোগ তাহার আছে বলিয়া বিবেচনা করা যায়।"

It is found that father of *Nuzhat Nahar Trisha* is the Sponsor/Director of Mercantile Insurance Company Limited. Trading pattern of *Nuzhat Nahar Trisha* indicates that he might have been aware of the price sensitive information of the company and executed trading of MERCINS shares based on that information. It is also observed that *Nuzhat Nahar Trisha* earned significant amount of gain from the trading of MERCINS shares during the aforesaid period.

▶ It appears that Nuzhat Nahar Trisha has violated 8(১) of সিকিউরিটিজ ও এক্সচেঞ্জ কমিশন (সুবিধাভোগী ব্যবসা নিষিদ্ধকরণ) বিধিমালা, 1995 as she is the daughter of Sponsor/Director Mr. Md. Nurul Amin and it seems that utilizing the relationship she can avail inside information of Mercantile Insurance Company Limited.

যেহেতু, উর্পযুক্ত আলোচ্য বিষয়ে আইন ভঞ্চোর কারণে কমিশনের এনর্ফোসমন্টে বিভাগ র্কতৃক নভেম্বর ০১, ২০২২ তারিখ বিএসইসি/এনফোর্সমেন্ট/৩৩৭৪/২০২২/১৪২৯ স্মারকমূলে Mrs. Nuzhat Nahar Trisha - কে ২০ নভেম্বর, ২০২২ তারিখে কারণ প্রদশন সহ শুনানীতে উপস্থতি হতে বলা হয়। শুনানীতে উপস্থিত হয়ে Ms. Nuzhat Nahar Trisha এর পক্ষে Mr. Enamul Karim Chowdhury, Manager নিম্মলিখিত বক্তব্য দাখিল করেন;

"I would like to refer to your letter Ref. No. BSEC/Enforcement/3374/2022/1429 dated November 01, 2022 on my hand on 09/11/2022. After receiving the letter, I have tried my best to realize the contents therein with due respect to the laws and regulations of Bangladesh Securities and Exchange Commission. Consequently, I have found your observation that I have bought and sold (408000) shares of Mercantile Insurance Co. Ltd without proper manner or ways of securities transactions.

With due respect, I would like to inform you that I am a general investor of secondry market and regularly buying and selling securities in my BO accounts. This is one of my hobbies to transact in the secondry market. I have bought and sold shares of Mercantile Insurance Co. Ltd as my regular course of transactions. However as a general investor, I have no sufficient knowledge on securities related laws mentioned in your letter. I certainly assure you that through buying and selling securities, there is no intentionally mistakes on behalf of me and there was no intention to violate any securities laws.



I would like to further inform you that I have maintained my BO account since long and appointed my father, Md. Nurul Amin, as nominee since I was unmarried. I could not update my BO account information after marriage. I have resided separately with my husband after marriage. It was mentioned here that due to Covid-19 pandemic situations, we also stayed in lock down situations. I was fully unconscious when I made my regular securities transactions in the secondary market about the directorship of my father in Mercantile Insurance Company Limited.

Under the above circumstances, I would earnestly request your forgiveness in this issues and hope that you would be kind enough and gracious to waive me from the allegation of non-compliances as mentioned in your letter. In fine and in conclusion I fervently pray to grant me highest consideration of apology and to get rid of me from any kinds of suspicious securities transactions.

I shall remain ever grateful to you as well as Bangladesh Securities and Exchange Commission for the act of your kindness and consideration of my ignorance about the rules of বিধি ৪(১) of সিকিউরিটিজ অ্যান্ড এক্সচেঞ্চ কমিশন (সুবিধাভোগী ব্যবসা নিষিদ্ধকরণ) বিধিমালা, ১৯৯৫।

Your kindest apology in all respects is highly expected".

যেহেতু, Ms. Nuzhat Nahar Trisha -এর উল্লিখিত বক্তব্য থেকে প্রতীয়মান হয় যে, উপস্থাপিত অভিযোগসমূহ সঠিক এবং উপর্যুক্ত কর্মকান্ডের ফলে পুঁজিবাজারের সাধারণ বিনিয়োগকারীগণ ক্ষতিগ্রস্থ হয়েছে যা, পুঁজিবাজার উন্নয়নের পরিপদ্বী সেহেতু এক্ষেত্রে Ms. Nuzhat Nahar Trisha -এর ব্যাখ্যা কমিশনের নিকট গ্রহণযোগ্য হিসেবে বিবেচিত হয়নি;

যেহেতু, Ms. Nuzhat Nahar Trisha- উল্লিখিত কর্মকান্ডের মাধ্যমে সিকিউরিটিজ ও এক্সচেঞ্জ কমিশন (সুবিধাভোগী ব্যবসা নিষিদ্ধকরণ) বিধিমালা, ১৯৯৫ এর বিধি ৪(১) লঙ্খন করেছেন;

যেহেতু, Ms. Nuzhat Nahar Trisha -এর উল্লিখিত কর্মকান্ড বাংলাদেশ সিকিউরিটিজ অ্যান্ড এক্সচেঞ্জ কমিশন আইন, ১৯৯৩ এর ধারা ১৮ অনুযায়ী শাস্তিযোগ্য অপরাধ;

্যেহেতু, কমিশনের বিবেচনার, আলোচ্য ব্যর্থতার জন্য, সুঁজিবাজারের শৃংখলা, স্বচ্ছতা এবং জনসার্থে আলোচ্য Ms. Nuzhat Nahar Trisha - কে অর্থদন্ডে দন্তিত করা প্রয়োজন ও সমীচীন;

অতএব, সেহেতু, কমিশন উল্লিখিত যাবতীয় বিষয় বিবেচনাপূর্বক, বাংলাদেশ সিকিউরিটিজ অ্যান্ড এক্সচেঞ্জ কমিশন আইন, ১৯৯৩ এর ধারা ১৮ এ প্রদত্ত ক্ষমতাবলে-

- Ms. Nuzhat Nahar Trisha - কে ১০.০০ (দশ) লক্ষ টাকা অর্থদন্ড ধার্য্য করল, যা অত্র আদেশের ৩০ (ত্রিশ) দিনের মধ্যে 'বাংলাদেশ সিকিউরিটিজ অ্যান্ড এক্সচেঞ্জ কমিশন' এর অনুকূলে ইস্যুকৃত ব্যাংক ড্লাফট/পে-অর্ডারের মাধ্যমে জমা প্রদান করতে হবে, অন্যথায় সিকিউরিটিজ আইন মোতাবেক পরবর্তী আইনানুগ ব্যবস্থা গ্রহণ করা হবে।

বাংলাদেশ সিকিউরিটিজ অ্যান্ড এক্সচেঞ্জ কমৃিশনের আদেশক্রমে

ড. রুমানা ইসলাম ক্রমিশুনার

বিতরণ:

Ms. Nuzhat Nahar Trisha House No-17, Road No-102 Gulshan-2, Dhaka- 1212.